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QUESTION 1

As a HCP administrator, you are asked to create a data access account for the company CFO for HCP namespace
Finance. The Finance namespace only allows read permissions, but the CFO wants the ability to edit everything. Which
three actions are performed to complete the task? (Choose three.)

A. Expand namespace permissions.

B. Apply purge on account.

C. Choose the account name.

D. Delete account name and re-create it.

E. Apply all under permissions.

Correct Answer: ACE

QUESTION 2

A customer asks you to deploy a HCP. They want to have three HCP tenants for three Active Directory organization
units and two HCP tenants for two UNIX groups. They plan to use Active Directory authentication for CIFS users and
UNIX authentication for NFS users. What do you tell the customer?

A. You can configure CIFS and NFS in accordance to the plan.

B. CIFS and NFS cannot be configured for tenants.

C. You can configure for either CIFS or NFS, but not both.

D. RADIUS servers are required before you can configure CIFS and NFS in accordance to the plan.

Correct Answer: B

QUESTION 3

How should the RAID group(s) and logical volume(s) be configured on a HCP 300 node?
A. three RAID groups each with three logical volumes

B. three RAID groups each with a single logical volume

C. a single RAID group with a single logical volume

D. a single RAID group with three logical volumes

Correct Answer: D

QUESTION 4
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A customer expects to store 4 billion objects with an initial HCP configuration. Search is not required at this time. Which
configuration will meet the requirements for this customer?

A. HCP 300 with ten storage nodes
B. HCP 500 with two storage nodes
C. HCP 300 with four storage nodes
D. HCP 500 with eight storage nodes

Correct Answer: A

QUESTION 5

Which implementation describes how HCP 300 storage nodes are configured in a non-replicating environment?
A. RAID 6 (6+2) with DPL2

B. RAID 5 (5+1) with DPL5

C. RAID 5 (5+1) with DPL2

D. RAID 6 (6+2) with DPL1

Correct Answer: C
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